


NMuwwnyhpuwwnntl

FuNhULELE NLUL

SYLunwpgbih hwduwupuy bnnwpu

(puun pobinuyhtt Swubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinuip Uwwpwwnh Swhiubp

Pwdht 01 junudp 1l nuu 1 épwghp
(pun pnigbtnuyghtt dSwpuubiph ghbpunbuywljuwt nuuwlwupglui)

Qudwmt wpwplugh

Cunudbkup
Uhowitghy Ynpp* Quwdwb dup Quthdwb
Uhuwn (i} Swhiuk Lwtiwm
CPV wbjwinwdp (pupwgulupgp) dhwynpp husinph ghtp ( Ium l[I)IE 4p
nuuwlwupgiub i

L. 2. 3. 4. 5. 6. 7.
09310000 EEjnpwljwunipinit UU d 50 700 000 14 000
09132000 Ququdphljugnid Uu hunp. dkwnp 139 100 000 719
22852000 Pypuuyuuwy Uu hwiwn 800 30 000 38
30141200 Utnuuh hwoydhs Uu huwn 2000 6 000 3
30192000 Apuukiyuljuyht Ul hwwn 23 000

ymyphkp
30192122 Qnhs UU huiwn 200 8 000 40
30192130 Uwwnhwn Uu hwwn 100 3 000 30
30192700 Uj gpuwljut UU huwn 17 000
whwnyplbp

30197620 QpbnL pouyp UU wnith 2 200 33 000 15
39130000 Gpuwubiywluyht UU huwn 1995 800

Jwhnyp




50313100

NMuwdtiwhwunn

uwppkph
JEpwtnpnguiut
Swnwynipyniutip

Uu

npuy

40 000

64212000

Foguyht
htEnwjunuukph
Swnwjnipjniutbp

Uu

npud

68 000

72417000

“ndkuwght
wiudwunidubp

Uu

npud

12 000

80511000

Ugjuwunujuquh
JEpuyuwnpuundwub
Swnuynipinih

Ul

npuy

30 000

34331300

UyJundbtptuwubkph
wwhbunwdwubp

Uu

npud

300 000

Cunudkup

3 365 800




NMuwwnyhpuwwnntl

FuNhULELE NLUL

QEwnwpgbh hwdwjipuybwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuswljut nuwuwlwupglui)

Opwghpp

Utjuinudp  Uwwpwwnh dwhiubp

Pwdht 01 junudp 1l nuu 1 dpwghp
(puun pnigbwnnuyghtt Swpnubph ghpunbuywlut puuwlwupgdui)

Fudwt wowpluwjh

Cunudbkup
Uhgwtighly Quwdwt dup Quihuwl
Yngp* CPV wijwbnudp (pupugulupqp) Uhwynpp Uhuwijnph ghtp bl(uhml:})ln Bulwlp
nuuwjupguui n
1. 2. 3. 4. 5. 6. 7.
39715200 Ququyht jupuw b Ul npuu 615 100
nwnhuwnnn
42161400 YQupuwubkph htwn Ul npuud 384 900
oquuqgnpdynn
odwunul] uwpptp
/ Ygudwukn /
Cunpundkup 1 000 000




FuNhULELE NLUL

NMuwwnyhpuwwnntl SYLunwpgbih hwduwupuy bnnwpui

(pun pnigbtnuyghtt dSwpuubiph ghpunbuywljut nuuwlwupglui)

Opwghpp
Utjuinudp  Uwwpwunh Swjuubp

Pwdht 01 junudp 1l nuu 1 dpwghp
(pun pnigbtnuyghtt dSwpuubiph ghpunbuywlut nuuwlwupglui)

Qudwl wpwplugh Ol
Uhgwh Quudwb dlip Quthuml AHERAR
llnli}g]g‘ (?11313' wiuunidp (nupwugmljmpgp) dhunjnpp Uhutinph ghtp bmluul:{p]g fuituyp
nuuwjupguui (npud)
1. 2. 3. 4. 5. 6. 7.
79211150 Uniphunnpuljut Uu npuu 200 000
Swowynipjniutbp
72261180 StnEjuwndujub Uu npud 72 000
hundwljupgh
Spwgpuifhb
wujwhnydwi
uyuuwplnid
Cunudkup 272 000




NMuwwnyhpuwwnntl

SYLunwpgbih hwduwupuy bnnwpui

FuNhULELE NLUL

(pun pnigbtnuyghtt dSwpuubiph ghpunbuywljut nuuwlwupglui)

Opwghpp

Udwinudp /2 2/2 wduindwn uywuwpynid

Pwdht 01 punudp 3 nuu 3 Spwghp
(pun pnigbtnuyghtt dSwpuubiph ghpunbuywlut nuuwlwupglui)

Qudwmt wpwplugh

Cunudkup
Uhowighly Quwdwb dup Quthdwt
Ynyp' CPV wiuunidp (nupwugmljmpgp) dhunjnpp Uhutinph ghtp bmluul:{p]g futmyp
nuuwjupguui (qpad)
1. 2. 3. 4. 5. 6. 7.

48921000 Udundwnugdwui Ul npuu 14 400

hudwlwpg

Cunwdkup 14 400




NMuwwnyhpuwwnntl

SYLunwpgbih hwduwupuy bnnwpui

(puunn pobkinuyhtt Swuubkph ghpunbuywlwt puuwlwupglui)

Opwghpp

Utduinuip Fwllught Swpwnipniuubp

Pwdht 01 junwdp 3 nuu 3 dpwghp
(pun pnigbitnuyghtt dSwpuubiph ghpunbuywlut nuwuwlwupgdui)

GuNhrULE P MLUL

Fudwt wowpluwjh

Cunwudkup
Uhgwtighly Qhwdwb dup Quithuwt
Yngp* CPV wijuunidp (pupwuguljupgp) Uhwynpp Uhwinph ghtp bm}uul:{p]} Butiulyp
nuuwjupguui (qpad)
1. 2. 3. 4. 5. 6. 7.
66110000 Puiiljuyhte Uu npuu 35 000
Swnwympiniutikp
Cunwdkup 35 000




GuNhrULE P MLUL

NMuwnyhpuwwnntl QLwnwpgbih hwdwipuy bnwpwi
(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp
Utjuwinudp Cunghwtnip punyph hwipujhtt  Swpwjnipnibibp

Pwdht 01 fjunwdp 6 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwl wpwpluygh

Cunwudkup
Uhowl Quwdwbt 4l Quthdwb
llnlii?]}‘ C?]gil’ wijwunidp (Ehpmgmllmp(]}}]}) 1[]111111111an Uhwinph ghtp duijuubipp fultulp
nuuwlwupgiub (qpud)
L. 2. 3. 4. 5. 6. 7.
G ninquljut
71221400 puwlurduyptph Q. npud 400 000
pupunbquqpdub
Swinuyynipiniu
71311360 Chuptph Uu npuyd 450 000
swhwgpuwb
Swowynipjniutbp
Cunudkup 850 000




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utjuinudp  Punupughwljul wuwownwwbnipnit

Pwdht 02 junwdp 2 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

GuNhrULE P MLUL

Qudwmt wpwplugh

Cunwuudbkup
Uhowt Quwdwl dup Quithdwlb
llnlifg‘ C?]gil’ wijwbnudp (pupuguljupgp) Uhwynpp Uhwinph ghtp Suijuubinp Butiulyp
nuuwlwupgiub (pud)
1. 2. 3. 4. 5. 6. 7.
Ownwjnipjniuubp
punupwughwlwui
75222000 wuwonwuwinipju UU 1}1’11111[ 50 000
njnpuniy
Cunwuudbkup 50 000




NMuwwnyhpuwwnntl

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utjuinudp  Ppljuwpwp Swnwnipnil

Pwdhtu 03 junudp 2 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

GuNhrULE P MLUL

Qudwl wpwpluygh

Cunwudkup
Uhowl Quwdwbt 4l Quthdwb
llnlii?]}‘ C?]g\l; wijwunidp (Ehpmgmllmpc]}}]].) 1[]111111111an Uhwinph ghtp Suijuubinp Butiulyp
nuuwlwupgiub (pud)
L. 2. 3. 4. 5. 6. 7.
75252000 Onlyupuwpului Uu npuu 50 000
Swnwympiniutikp
Cunudkup 50 000




NMuwwnyhpuwwnntl

FuNhULELE NLUL

SYLunwpgbih hwduwupuy bnnwpui

(pun pnigbtnuyghtt dSwpuubiph ghpunbuywljut nuuwlwupglui)

Opwghpp

Uljuinudp  Yniqunbnbunipinil

Pwdht 04 junudp 2 nuu 1 dpwghp
(pun pnigbtnuyghtt dSwpuubiph ghpunbuywlut nuuwlwupglui)

Qudwmtt wpwplugh

Cunudkup
Uhowlighy Quwdwu dlip 2uthuwmb

Ynyp' CPV wiuunidp (pupwuguljupgn) dhunjnpp Upunjnph ghtp bulluullifp]} Sutwln

nuuwjupguui (pund)

1. 2. 3. 4. 5. 6. 7.
45231148 Shnuh dwppdwt UU npud 500 000
woluwnwipubp
Cunwdkup 500 000




NMuwwnyhpuwwnntl

GuNhrULE P MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp  Swbwwywphuyhtt mpuwbiuynpun

Pwdhu 04 junwdp 2 nuu 4 Spwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwmt wpwplugh

Cunwuudbkup
Uhowt Fhwdwl dup Quithdwlb

llnlifn.‘ C?]g\l; wijwunidp (ptpugulupqp) Uhwynpp Uhuwijnph ghtp duifuutpp Bulwlp

nuuwlupguui (qpuzd)

1. 2. 3. 4. 5. 6. 7.
45231125 Nonquwb Ul npuu 100 000
woluwnwiptbip
Cunudkup 100 000




NMuwwnyhpuwwnntl

GuNhrULE P MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp  Swbwwywphuyhtt mpuwbiuynpun

Pwdhu 04 funudp 5 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwmt wpwplugh

Cunwuudbkup
Uhgutighly Qtwdwl dup Quihuwl
Yngp* CPV wijwunidp (ptpugulupqp) Uhwynpp Uhuwijnph ghtp bmluullinE. Sutulyp
nuuwlupguui (pud)
1. 2. 3. 4. 5. 6. 7.
45233222 Uundbwjunuyuundw QZ pu 8 100 000
woluwnwiptbip
‘Lwjuwgdu- Qz npud 400 000
twpjpwhwoguyhte
woluwnwipubp
Cunwdkup 8 500 000




NMuwwnyhpuwwnntl

GuNhrULE P MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utjuinudp  Unpwhwinipnih

Pwdhtu 05 junwdp 1 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwmt wpwplugh

Cunwudkup
Uhowt Fhwdwl dup Quihdwt
llnlifg‘ C?Il’l\lll‘ wijwunidp (ptpugulupqp) dvhwynpp Uhwinph ghtp bm}uul:[p]} Sutulyp
nuuwlwupgiub (pud)

L. 2. 3. 4. 5. 6. 7.
09132000 Puwljul quq Uu U 200 800 000 4 800
34331100 PEnttwnuip Ul hwwn 700 000

Ukpkuwtutph

wyuwhbunwdwubp
65000000 Ghugunujhtt winph Ul nnuu 960 000
hwjwpdwt

Swnwynipjniu
66514100 Onjuwunpudhengubtph UU npud 37 000

htwn juuyyws

wywhnjugpmipjut

Swinuynipiniu




Cunwdkup 2 497 000
3uNhULEP MLUL
NMuwnydhpuwwnntt Shwnwpgbih hwdwjipuy bnnwpwi
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)
Opwghpp
Utjuinudp  Yktu. b pb. quownwwinipnil
Pwdhu 05 punudp 4 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)
Fudwt wowpluwjh
Cunwudkup
Uhgwtighly Qhwdwb dup Quithuwl
Uhuwn (i} Swhiuk Lwtiwm
Ynnp’ CPV wijwinuip | (pupugulupgp) Uhurnpp hunimph g (I}I:mdl;n e
nuuwjupguui
1. 2. 3. 4. 5. 6. 7.
90720000 Cpowju Uu nnuu 24 000
Uhgujuyph
wuwhwwbinipnih
Cunwdkup 24 000




NMuwwnyhpuwwnntl

GuNhrULE P MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utduinudp  ®nnnguyhtt jmiuwynpnid

Pwdhu 06 punudp 4 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwl wpwplugh

Cunudkup
Uhowla Quwdwu dlip 2uthuwmb
llnli}g]g‘ (?11’13' wudwunidp (pupugulupgn) dhunjnpp Uhutinph ghtp bulluullifp]} Sutwln
nuuwjupguui (pund)
1. 2. 3. 4. 5. 6. 7.
45311138 Swtwwwphwjht UU npud 300 000
|hruwynpnipjub

uwppkph

nbknunpnid

Cunpundkup 300 000




GuNhrULE P MLUL

NMuwwnyhpuwwnntl SYLunwpgbih hwduwupuy bnnwpui
(puunn pobkinuyhtt Swuubkph ghpunbuywlwt puuwlwupglui)

Opwgppp
Utduinudp  Ujp dowlnypwiht  juquuljbpunipmniutbp

Pwdht 08 punudp 2 nuu 4 Spwghp
(pun pnigbitnuyghtt dSwpuubiph ghpunbuywlut nuwuwlwupgdui)

Qudwlt wpwpluygh Ctinundhix
Uhgwighy Qumdwt dlip Quthuml TRUTEAD
Yngp* CPV wijwbnudp (pupugulupqp) Uhwynpp Uhuwijnph ghtp bmluullinE. Suibuyp
nuuwlwupgidub (npul)
1. 2. 3. 4. 5. 6. 7.
79951100 Uhgngunnidubkph Ul npuu 50 000
htwn juuydws
Swnuynipyniuikp
Epkjuwttph Ul npuu 50 000
wdwbnpu jkpukp
Cunudkup 100 000




GuNhrULE P MLUL

NMuwnyhpuwwnntl QLwnwpgbih hwdwipuy bnwpwi
(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp
Utduinulp Zuuwpwljulwt juquulbpynipniittp

Pwdht 08 punudp 4 nuu 2 Spwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwlt wpwpluygh
Uhgwlighly Qlurdwh dbp OQuthuwit Uhurfnph iii}h“:;[lf;‘; purtlyp
Ynnp* CPV wifutnudp (nupwgulupgp) | Upunjnpp ghtp —
nuuwjupguui
1. 2. 3. 4. 5. 6. 7.

79632000 Ugjuwnujuquh Uu npud 10 000

JEpuywnpuundwb

Swowynipjniutbp

‘Lhpwwnynipinit wy Uu npuu 50 000

owthnijpe shbnwuyunnn

Juquulkpynipniuubpht

Cunudkup 60 000




NMuwwnyhpuwwnntl

GuNhrULE P MLUL

QEwnwpgbh hwdwjipuy bwnwput

(pun pnigbitnuyghtt dSwpuubiph ghpunbuywljuwt nuwuwlwupglui)

Opwghpp

Utjuinidp  Uheohtt dwultimughnwljuit Yppenipmnil

Pwdhtu 09 pjunudp 3 nuu 2 Spwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlut puuwlwupgdui)

Fudwt wowpluwih

Cunudkup
Uhoulr Quudwt dl Quhdwl
llnlif]g‘ (?11313' wudwunidp (Ehpulguﬂlulp(]}}]g) dhu?t{np]} Uhurinph ghtp dujuukpp Sultulyp
nuuwjupguui (pund)
1. 2. 3. 4, 5. 6. 7.
Uj1 byyuwuwnttp npud 150 000
pinigkhg
Cunudkup 150 000




NMuwwnyhpwwnntl

FuNhULELE NLUL

QEwnwpgbh hwdwjipuy bwnwput

(pun pnigbitnuyghtt dSwjuubiph ghpunbuswlut nuwuwlwupgdui)

Opwghpp

Uljuinudp  FPwpdpugnyi  dwubwghunwlwb jppnipnit

Pwdhtu 09 pjunwdp 4 nuu 1 dpwghp
(puunn pobinuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Fudwt wowpluwih

Cunudbkup
Uhowla Quwdwu &l 2uthuwmb
llnli}g]g‘ (?11313' wudwunidp (Ehpulguﬂlulp(]}}]g) dhu?t{np]} Uhutinph ghtp duifuutpp Sutwln
nuuwjupguui (pud)
1. 2. 3. 4. 5. 6. 7.
Uy tyyuuwnitp npuu 380 000
pnigthg
Cunwuudbkup 380 000




NMuwwnyhpuwwnntl

GuNhrULE P MLUL

QEwnwpgbh hwdwjipuwbwnwput

(puunn pobwnuyhtt Swpuubkph ghpunbuywlwt puuwlwupgdui)

Opwghpp

Utjwunidp  Ung. oqgunipinit phwlsnipjuin

Pwdhtu 10 junwdp 7 nuu 1 dpwghp
(puunn pobinuyhtt Swuubkph ghpunbuywlwt puuwlwupgdui)

Qudwl wpwplugh

Cunudkup
Uhowla Quwdwu &l 2uthuwmb
llnli}g]g‘ (?11’13' wudwunidp (Ehpulguﬂlulp(]}}]g) dhu?t{np]} Uhutinph ghtp duifuutpp Sutwln
nuuwjupguui (pund)
1. 2. 3. 4. 5. 6. 7.
Uj1 byyuwuwntkp npud 550 000
pnigthg
Cunudbkup 550 000




